03164_B B ELRE  wAAHEE B R

7= miiEA

M
4N,

I
211t (33-39 HRC) MB B E(LALE,

BR:
EOREXIMAEANEFROLMKEIH,

B RERNBE R REF D
W RN E DR E,

RERT
R~ H#E=DHRMEE,

1) 0 HE

TERBE

SREEORE  EABRELH,
SBRERETHIHNRARRE D,

(HOFETES)
DHRTHUKPED
@ EEENELET TR

AR BE:

S
ARE RE RRE

ATROHEERE  SEFIHAREERVREL,
REABMBRERORE LT

T =
-
54

© norelem www.norelem.com



03164 B B ELXE , TAASAH1ER , B &

T
| | N &
L __F -
| f— B
|
~
I
03164-20804 B M4x12 8 10,3 55 51 71 3 1,5 2,7
03164-21005 B M5X15 10 12,3 6,4 6,2 9 4 2,5 54
03164-21206 B M6X18 12 16,3 8,6 7,9 10,6 5 5 9,1
03164-21608 B M8X25 16 22 11,5 10,4 15,4 6 9 25

© norelem www.norelem.com



